
Name: ....................................      AT=AppleTalk

1.) What is the principle difference between AT Phase I and II ?

2.) Which of the following is true about ZIP ?

( ) ZIP means Zone Information Protocol and there is a

    correlation between the ZIP table in the higher layer

    and the routing table in a lower layer

( ) the Zone Information Protocol has no correlation to the

    routing table

( ) it is the so-called "seed-server"

( ) on LAN links a pseudonode is represented by the ZIP

3.) Does AT use an address resolution philosophy ?

( ) sometimes

( ) yes, always

( ) only when command "apple arp enable" was used

( ) never

4.) Which of the following is true about EIGRP for AT ?

( ) the router process ID must be unique on each router

( ) the router process ID must be the same on all routers

    in the same area/autonomous system

( ) the ID is only used when redistributing

( ) the ID is used for summarization purposes

5.) RTMP metrics are  _____  ?   ticks, hops, cost ?

( ) ticks and hops

( ) ticks and cost

( ) just cost

( ) hops

6.) Describe briefly the CHOOSER :

7.) RTMP's routing algorithm is also known as:

( ) garcia-luna-algorithm

( ) dijkstra algorithm

( ) bellman-ford-algorithm

( ) jitter-algorithm

8.) Describe the AT Probes ?

9.) Whats not true about the RTMP update timer ?

( ) defaults to 20 seconds

( ) defaults to 10 seconds

( ) defaults are: 20 sec for firmseeds and 10 seconds for

    nonseeds

10.) Whats true about RTMP-EIGRP-redistribution ?

( ) it works automatic as long as all servers are in the same

    area and level 2-routing is configured

( ) must be configured manually

( ) works automatic, just like that

11.) What's the size of the network address in Phase 1?

( ) 10 bit

( ) 30 bit

( ) 8 bit

( ) 16 bit

12.) AT's Operation System is called ?

( ) Apple DOS

( ) Apple OS

( ) Apple OZ

( ) System 7

13.) What does "AT floating static route" mean ?

( ) a new feature planned for future IOS-releases

( ) allows static routes to be overridden by dynamically learned

    route

( ) when dynamic routing fails for any reason, the preconfigured

    static route takes presedence

14.) What's the size of the node address in Phase 1 ?

( ) 8 bit

( ) 16 bit

( ) 6 bit

15.) What's the size of the node address in Phase 2 ?

( ) 8 bit

( ) 16 bit

( ) 6 bit

16.) RTMP is:

( ) derived from IS-IS (with a special Novell header)

( ) derived from XNS RIP

( ) not derived from anything or anyone

17.) DDP is derived from ?

( ) XNS PEP

( ) XNS SPP

( ) IPX

18.) What's the size of the network portion in Phase 2 ?

( ) 8 bit

( ) 10 bit

( ) 16 bit

( ) 32 bit

19.) How do you stop all AT process in a router ?

( ) interface sub-command: appletalk down

( ) no apple routing

( ) loggin buffered

( ) no router apple

20.) Which of the following is not true about zone filtering ?

( ) you must filter all zones associated to the same cable-

    range or you are asking for trouble

( ) you may filter all zones except one

( ) you must filter zones and NBP requests at the same time

    in order to get it work

21.) What's the default AT encapsulation on a Cisco 

     serial interface ?

( ) AURP

( ) Ethernet_802.2

( ) HDLC

( ) LocalTalk

22.) What`s the size of cable-ranges ?

( ) 16 bit with no restrictions

( ) 16 bit up to 65527

( ) 32 bit

23.) What are multiple overlapping zones ?

24.) What's a non-extended network ?

( ) does not exist in AT

( ) means Phase 2

( ) means Phase 3

( ) means Phase 1

25.) Which of the following is true about address resolution ?

( ) AT doesn't have/need an address resolution

( ) logical addresses are dynamically derived from physical ones

( ) physical addresses are dynamically derice from logical ones

( ) it's called AARP and can be viewed with SH APPL ARP

26.) How do AT Phase 2 clients get their node-IDs ?

27.) What's the DDP packet size ?

( ) 265 bytes

( ) 512 bytes

( ) 1024 bytes

28.) What`s the problem using the Chooser ?

29.) How can you get rid of the many incoming and disturbing

     AT error messages while in config mode ?

30.) What's wrong with the following configs (both routers

     connecting to the same link) ?

     Router A:

     appletalk routing

     int e 1

     apple cable 1000 - 1199

     apple zo headquarters

     apple zo bldg100

     Router B:

     apple routing

     int e 0

     apple cable 1000 - 1199

     apple zo bldg100

     apple zo headquarters

31.) What's the design rules for allocating cable ranges ?

